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MENTAL MATHS CORNER

in the blanks :

The ratio 3 : 5 as percentage is .........ccecvveeeeeeiiiicciicineccniee, ,
6 :
3 as PETCENUAZE 1S ouvisrversserssssssssvsansunssasssssssssssrs ;
2 .
6-5 % expressed a8/ frachoniis s .
If x% of 25 1s 8, then x is equal to .....c.ccmiminmieomimsisnarsies J
The simple interest of X 600 at 6% per annum for 5 Months iS ........cccceeeeceeeiiecceecieeieeeeneee .
A number decreased by 35% gives 39, then the number is ........cccoceevuererereeririreenrnersnnnnn.. :
By selling a book for ¥ 100, a man gains I 25. His gain% iS .......cccceevveevervrveeriveeresereennn. :

By increasing the salary of a man by 20% it becomes ¥ 18000, his original salary is

-----------------------------

A man buys an article for 40 and sell it as X 60, his aiN% IS ...ceeveerveivreeveerereeeeeeeseoee .

5% of a number is 6, then the NUMDET I8 ........ueeeirieieemmeeiiereereeeeiesssenns .




